
125 LC2 80 '98 <1998><EU><112682>
INSTRUMENTS / LOCK SYSTEM

47596

Pos Part Number Description Additional Text Quantity

1 51114065000 SPEEDOMETER NIPPON SEIKI KMH 1.00

1 51114065100 SPEEDOMETER NIPPON SEIKI MPH 1.00

3 51111084100 COVER FOR CONSOLE '97 1.00

4 58312085100 EDGE PROTECTOR PER METER 0,097 METER 0.00

5 51111065000 % LOCK SET 125 LC2 ' 1.00

7 58411003000 MASK BRACKET '97 1.00

8 54635036000 BUSHING 2.00

9 41001052000 RUBBER SLEEVE D=12MM 3.00

10 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00



12 0985060003 Self lock. nut DIN985-M6-A2 2.00

14 58011022300 OIL WARNING LIGHT RED 1.00

15 58011008000 GUIDE FOR BRAKE HOSE 1.00

16 0985050003 Self locking nut DIN 985 M5 1.00

17 0912050123 AH SCREW DIN0912-M 5X12 1.00

18 0125050003 WASHER DIN0125-A 5,3 1.00

20 56511188600 *SPEEDOM.CABLE M12/M12 945MM 1.00

21 58411066050 HOUSING FOR IGNITION LOCK '97 1.00

22 0015060123 HH COLLAR SCREW M 6X12 WS=8 2.00

23 49111425000 BULB 12V 1,2W (W2X4,6D) 0.00

24 0016060203 SPECIAL SCREW Z 6,0X20 2.00

25 58111052100 SPEEDOMETER DRIVE 748217(3,0) 1.00

27 58111053100 DRIVING DOG F.SPEEDOM.DRIVE'92 1.00


